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Tanta UNIVERSITY, Facu?ﬁ of Science, Department of Botany

Final Examination for (First Year) Students of Bioiogy

+

COURSETITLE: COURSE

L General Botany (1) CODE:BO1101

DATE:28DECEMBER, 2016 ‘ TOTAL ASSESSMENT | TIMEALLOWED:2HOU
TERM: FIRST | pARKS: 150 RS

I —Plant Morphology (75 Marks)
A. With labeled drawings (when possible), write on Five of the following (50 Marks, 10 Marks each)

1.Seed composition 2. Different types of leaf margin.
3. The different types of habitsof stems. 4. Tap root
5. Sessile raceme inflorescences. 6.Stem metamorphosis

B. Mark eachsentences with true(V) or false (X),and correct the false ones (10 Marks, 2 Marks each)

1. Vitis is considered as a monopodial branching of stem ()

2. The hypogeal germination characteristic by cotyledonary leaves ()
3. Running stem plants has proproot ()

4, Scorpoid inflorescence is a cymose inflorescence ()

5. Sucking root is adventitious root that has air cavity for gas exchange ( )

C. Complete the following sentences (15 Marks, 1 Mark each)

| is the region in root that responsible for cell division and coated by...........
2Budsmaybe .............. if it located on the apex of stem or............ bud if it located at root.

3. Cauline leaf arrangement may be................. e enireeean yeenrene e, ;

4. Tendril leaf plant has................. stipules.

5. Raceme inflorescences have .......... succession, however cymose has ............ succession.

6 v is the leaty stem which has one¢ internode, however,............. has more than one internode.
7. venation is very important according to ............... and..............

8. Onion has two types of leaf ................ and.......ooon

Il - Plant Anatomy (75 marks)
A. With a beled diagram when possible, write on each of the following (35 Marks, 7 Marks each)
I- Ribosomes 2- Secondery meristems
3- Nugcleus 4- Storage starch
5- Structure and function of chloroplast.
B. Complete the following (only write the answer) (20 Marks, 2 Marks each)
1- Cholenchyma is found in dicot stems as ....c.coccecvrernevinenn OF vvivverrieenierirraainsreens
2- At maturity, xylem losses its function by .....................,while phloem loses its function by .............
3- Dual function of xylem is . veeerreerrrenns 800 i
4- Sieve elements are found in Anglosperms informof .............. but in Gymnosperms in form of
5- Lignification of protoxylem might be ......cccoeeneie. OF ovirccrereesiraneesessneenens
6~ Increase in plant length may be due to the activity of ...................or
7- Tracery elements in xylem are .......coovcemnn@nd oo,
8- Companion cell provide .........ccco..e. and ..o to sieve cell
9- Sieve plate wall is ..ccoveererviiiannn, and contain pores called .......ccereencene
10- Plants are protected against biological agents by ......eoeevevinnens and.......ccoveeeene
C) Check (V) or (x) for each sentence and correct the false one (20 Marks, 2 Marks each)
|- Blind pits are formed when xylem vessel neighbors parenchyma cell ¢ )
2- Prebilem is a merstematic tissue responsible for production of ground tissue  (
3- Cartligenous coltlenchyma have cellulose depositions on its tanginental wall
4- Formation of ATP takes place on mitochondrial crestia (
5- Leucoplast is concerned with food secretion (
(
(
(

6- Concenteric vascular bundles are common in lower plants
7- Sclerenchyma is widely distributed than collenchyma
8- Cambium is considered as an apical meristem
9- Protein body is composed of globoid and amorphous mafrix
10- Phioem is concerned with transmittion of nutrients and/s
Best wishes....... Examiners: i
| Dr. Mostafa Eishobary | Dr. Khalil Saady
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Tanta University
Faculty of Science

Department of Mathematics

Final term exam for the first semester 2016-2017

Course title:

(1) sbsby

Course code: MA1101

1969 Date: 31/ 12/2016

Total Marks: 150

Time allowed: 2 Hours
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‘ - { TANTA UNIVERSITY T
i ; FACULTY OF SCIENCE
DEPARTMENT OF CHEMISTRY
FINAL EXAMINATION FOR 157 YEAR STUDENTS (ALL GROUPS) j
COURSE TITLE: General Chemistry (1) COURSE CODE: CH1101
DATE: 9™ JAN UARY, 2017 [TERM: FIRST ‘TOTAL ASSESSMENT MARKS: 150 TIME:2 Hours

Answer the following questions with questions 1,4, 5, 6, 7 out of 15 marks each. Questions 2,3and 8
out of 25 marks each.

1- Underline the correct answer and complete as appropriate then transfer to your Answer Sheet:
(a) In persulphuric acid of the following structure:

O

f
H~0~—'sl~—o_0_}{
0

Given the electronegativity of S =2.58, that for O = 3.44 and that for H = 2.20, then:
- The number of O atoms having oxidation number = 0 is (0/1/2/3//4/5) atoms.

- The number of O atoms having oxidation number = -1 is (0/1/2/3//4/5) atoms.
- The number of O atoms having oxidation number = +1 is (0/1/2/3//4/5) atoms.
- The number of O atoms haVing oxidation number = -2 js (0/1/273//4/5) atoms.

- The oxidation number of S is ............... and that of H atoms is ......................_
(b) For 2Cr, the electronic configuration 3d*4s? has (6 / 10) exchanges but the electronic
configuration 3d%4s' has (6 /10) exchanges. Therefore, the stable electronic configuration of ,4Cr

is (3d*4s?/3d°4s"). The oxidation state Cr" arises from the electronic configuration (3d44s?/
3d54sh),

(c) MnO;‘ +8H + ne” =— Mn*+ .
To get the equivalent weight of KMnO,, we divide the molecular weight by ‘

.........

(d) HsC —-ILI‘ — CH; — COOEt /=~ -----ceeeeen ..
O

Keto-form _ Enol-form

2- (a) Calculate the mole fraction of a solute in its 2 molal methanolic solution. (For methanol M =
32 amu)
(b) Work out the formal charge in CO and O;s then indicate the accepted structure of each
compound given you have ¢C and 50.
(¢) According to VSEPR theory, give the geometry of the following molecules:

- ammonia molecule NH,, ammonium ion NH*" and iodine heptafluoride IF- .

(d) Apply Graham’s law of diffusion to the uranium enrichment process to D (*UFs) / D (3*8UFy)
Given the atomic mass of each fluorine as 19 amu.

® SQT,__.?,, & m.anoux;g,i
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TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF CHEMISTRY - -

FINAL EXAMINATION FOR 15T YEAR STUDENTS (ALL GROUPS) -

| tese j 1. COURSE TITLE: General Chemistry (1) - L ~ |COURSE CODE: CH1101
DATE: ™ JANUARY, 2017 ° |TERM:: FIRST .lTOTALASSESSMENT;MARKS: 150 |TIME:2 Hours

Answer the following questions with quest|ons 1 4,5, 6 7 out of 15 marks each Questlons 2,3and 8
out of 25 marks each : :

1- Underline the- correct answer and complete as appropriate then transfer to. your Answer Sheet
(a) In persulphuric acid of the following structure: '

l—!—-—0--g~—0—-O-—H
g
Given the electronegat1v1ty of S = 2.58, that for O = 3.44 and that for H = 2.20, then:
- The number of O atoms havmg oxidation number 0is (0 /1/213//4/5) atoms.
- The number of O atoms having oxidation number = -Lis (0/1/2/3//4/5) atoms.
- The number of O atoms having oxidation number = =+1is (0/1/2/ 3/ /4/5) atoms.
- The number of O atoms having oxidation number = 2is(0/1/2/3//4/5) atoms.

- The oxidation number of Sis ........covcves and that of H atoms i .....cocvvvvvinviiiannnnn.

(b) For 24Cr, the electronic configuration 3d*4s* has (6 / 10) exchanges but the electromc
configuration 3d%4s’ has (6 / 10) exchanges. Therefore, the stable electronic configuration of 24Cr
is (3d%4s?/3d%4s"). The oxidation state Cr* arises from the electronic configuration (3d%4s?/
3d54sh).

() MnO, + 8H" + ne” == Mn” + v o
To get the equivalent weight of KMnOy, we divide the molecular weight by ... W

(d). HC— C“:— CH; — COOEt === -=-=-=r===-"o |

Keto-form " Enol-form -
2- (a) Calculate the mole fraction of a solute in its 2 molal methanollc solution. (For methanol M =

32 amu)
(b) Work cut the. formal charge in CO and 03 then mdncate the accepted structure of each

compound given you have ¢C and 30.
(c) Accordmg to VSEPR theory, give the geometry of the following molecules:

- ammonia molecule NH3 , ammonium ion NH*" and iodine heptafluoride IF .

(d) Apply Graham’s law of diffusion to the uranium enrichment process to D (235UF6) /D (P8UFe)

Given the atomic mass of each fluorine as 19 amu.
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DEPARTMENT OF MATHEMATICS o
“TANTA UNIVE RSITY
FACULTY OF SCIENCE

(Computer Science Division)

e

EXAMINATION FOR PROSPECTIVE STUDENTS (15T YEAR)
COURSE TITLE: Programming | COURSE CODE: CS1101

DATE:24-1-2017 | JAN 2017 | TERMET | TOTAL ASSESSMENT MARKS: 150 | TIME ALLOWED: 2 HOURS

Question 1:

> Define computer program and computer software and networks? Define source
code? Define object code? Write the four man type of Variables with their format?
> Write a program to printout the following number 8756.456 as Integer number,
then float with two decimal number, and float number?
> Can you write the nested for loop to calculate the multiplication Table till mxn?
> Write a program that take the Character and print out the ASCII Code of that
Character using Scanf and Printf? What are the main three types of secondary
memory?
Questlon 2: ‘
Define Algorithm and program? What are a good Algonthm and a good program?
What is the job of the printf and scanf functions? Give an example with integer and
float variables? .
> Define the array? How to assigned variable and string to it? Write an bexample to fill
array? What you should do to print out the values of array, give an example?
> Write a C program to read an array with ten float numbers and multiply it by
number 10 and then print it on the screen? :
> Write a program to calculate the factorial for any value n? Write a program to read

four real numbers on the screen then calculate the summation, multiplication with
the avrage and print them.

Questlon 3.

Write if.....else if....else if ... else and switch..... Case Branches with same example?
What is the deference between while loop and do ....while loop, give an example?

» Describe the three main component of any Function? Can you describe the
differences between void-functions and functions that return value" Write an
example? ’

> Write a C program that calling function to calculate the Cube and square of any
number n? How to describe the two dimensional array, Give an example? How to
initialize the two dimension array by characters?

> Write a program to read two float numbers and then replace (swap) the two values

and print the two values on the screen? '
EXAMINERS g};(/)F. DR./ATLAM ELSAYED gg MOSAAD WGEEH

With my best wishes ML&Q‘ oo M..J.Luam et




	اسم القالب2021-03-10_09-49-25-43
	اسم القالب2021-03-10_09-49-31-89
	اسم القالب2021-03-10_09-49-36-54
	اسم القالب2021-03-10_09-49-41-34
	اسم القالب2021-03-10_09-49-46-86
	اسم القالب2021-03-10_09-49-50-37
	اسم القالب2021-03-10_09-50-20-64

